Intercepts of a graph

Standard form
Ax+By=C

Finding x-intercept
Let x =0 and solve fory

Finding y-intercept
Let x =0 and solve fory

X-in bernept
F\X-\-E:)fz C.
Ax +&E)=C.
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Al2) 15y =C

What you will learn about:
Graph with Intercepts

Finding the x and y intercepts of the graph

Find the interceptsof 2x + y = 6

Find the intercepts of 3x + 6y = 24 &
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Graph using the intercepts
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Find the intercepts of 4x — 3y = 12
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Graph using the intercepts .
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Graph using the intercepts

3x—=5y=10
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Graph using the intercepts
—2x—8y =0
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Slope of a line

What you will learn about:

Find the slope of the line.

Understanding Slope of a Line
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Formula to find slope given two
points
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Find the slope of the line that passes through the points

(1, 2) and (4, 5). _ Ya~7
x| Yf Y& Y'l- m= W5y
=5-2 _5 _
Y-1 3 "\

Find the slope of the line that passes through the points
(8, 5) and (6,3).
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Find the slope of the line that passes through the points
(-2, -3) and (-7, 4). Yy-(-3) 1 ol
M= = -
=7-(-v) -5 g

Find the slope of the line that passes through the points
(-2,6) and (-3, -4). -4-6 _ -lo
m= .nT T = 1o
=5y

Find the slope of the line that passes through the points

(3, -5) and (3, 8). me 27 13 undefincl
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Find the slope of the line that passes through the points
4,-2)and (-2, -2
(4,-2) and (-2, -2) 2o _ 4
M= _2-4 = =, =
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Find the slope of the line that passes through the points

(5, 0) and (5, -6)
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Quick Guide to Slope (ch‘t = (Z:bld:\
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Graph the line passing through the point (1, -1) whose slope ism =
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Graph the line passing through the point (-2, 2) with a slope of m = E
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Graph the line passing through the point (4, 2) with a slope of

1
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Graph the line with y-intercept 2 whose slopeism = —
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Graph the line with y-intercept 4 whose slope ism = —
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Graph the line with x-intercept -3 and slope m = — -
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Graph the line passing through the point (-1, -3) with a slope of

m=4
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